él-q"EXPonenJria,( % Logarithmic  Funcdions
v J

The e.XPOV\en-HaL ][u,mo-l'?on j’ a_x Obe,jd our  wSual

L avo , 5L
e_XPone,./\-‘- lows :
A
brc b ¢ Domaia = (-00,00) j:ax
o T a Qa
b a
b—c o Ramje. = (o0,00)
a Y, e
_/1
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@)+ o NG
I‘,'.S inverse is +he )Cu..nc-l-Iom 3 = ["ja(’o'
J4
Y =log, (x) Domain = (o, 00)
i
Ro»v\se = (-00, )
1 a > X
5__ ok e jfjucfj) = X

Ex: loﬁ,o(looo) = 3 since 10° = 1000.

|032(l/'-') = - Since 2—$\= Z'_Z:Lf;



This fu.ncl-:on .SouL:.sf:e.s +he J[oI(ow:nj ,.O‘-jd.f‘:-’-hm Jaws :

f,oja(loc) = lgja(b) + fojaCc)

Loy, (i) = Log. (b) = Log(e)

c

fojq (b‘) = ¢ jtija(b)

& Solve  the —Fo“owir:j,
(o) ﬂ?ﬂe (2x) = &

_5°l°"3“°"‘: .ﬁo‘je(.‘Sx) = =2 Gz = 3x

= X = 36/3 = |2

O") L?j7 (X) + joj7 (X+€,) =1

Solution: f037(x)+ £°j7(X+G> = 1

= [,ﬁ7(x(x+e)) -1

= 7= X(x+6)



= X"+ 6%x-7°0 1
ﬂo&(@ % ﬂoj7(x+6) are

S (x+7Xx-1) = O | e et e e,

but X=1 is oka\j!

= X==7 or X-=1 L

" X=1 s tHe only Solution
o

Siace a* and [‘fja(") are inverse, 1t follous that

l°3 () joja. D
3Loq _(x)
E_X" S?MPI;f:j 5 3s .
3
Solution : 5’3‘03560 = S'IJY(X ) - X3

.Spec‘\odl Base: e = 2.7/1828 ... (Eu\e.r.'s Constant)

=€ is the wn;cLue. numbec such that J

+he jrq’:k 07( }j=OLx hos slope. 1
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A\I;u‘nal-,we,\:j, € Can be de](;'ne,d 5(7 the ]Co/fow:rlj

Somous  Limit - -
e = Lim (I+3)

N — 00

We call ﬂﬂse()(\) the notural ﬁo\ﬁo.ri-\rl«w\ Q_V\A write

I
_ﬂy\(x) - Iajg(’() 5=In(x>

A

Solution - _ﬁm (“‘Im(’d) =3 = e,ﬂn(hbw) = 63

E.X'- So‘\l& ,Qn(l"ln(xﬂ =3

= 4fa(x) = e

= f.n(x) = 63- 1

= e/L«.(x) _ e(es")

= X = 8(63- 1)




